End of Trig
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Find the following
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Solve for x
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Find the following

16.  
[image: image17.wmf]æö

ç÷

èø

5

sin2arctan

2






17.  
[image: image18.wmf]-

æö

æö

-

ç÷

ç÷

èø

èø

1

13

coscsc

22


18.  
[image: image19.wmf]--

æö

æö

-+

ç÷

ç÷

èø

èø

11

1

sintan(4)cos

3


Graph 
[image: image20.wmf]-

=

1

y3cos4x


_1111341168.unknown

_1111341339.unknown

_1111341486.unknown

_1111341536.unknown

_1111341660.unknown

_1177400345.unknown

_1111341508.unknown

_1111341377.unknown

_1111341452.unknown

_1111341354.unknown

_1111341274.unknown

_1111341294.unknown

_1111341191.unknown

_1111341063.unknown

_1111341131.unknown

_1111341147.unknown

_1111341093.unknown

_1111341021.unknown

_1111341033.unknown

_1111340870.unknown

